HYDRAULIC SWING CLAMPS | HE#E&AIIZRS

KRB R R
CLAMP-UNCLAMP CONFIRMATION

XAEZRRCLHW-CREAJEERGIRAR
The drawing shows the unclamped state of CLHW-CRE

JA B
EMAEHO:  GIRADK3 H ]
Unclamp Port: G Thread .
(FIREEER) X .,
= (Speed Control Valve Port) S S
ERENENEFHII L
() RE (RT
@ x: (R Type)
. . = N S | «| ~ %=BF  Swing Direction
AI r S e n S I n g o= CJ S S } fie# 751 When Clamping
]
Swing Clamp CWLIRE
_ -OR
2-G SRHSAHE) T_sor
2-G Thread Plug(Included) (Pl?ig%i’ljs ) 27,PQ
- ) . (Spot Facing ®Q)
FRESHEHAO: GIRADK3
Clamp Port: G Thread ®CC 60'05 B EEX
(A4S ERERR) OCC 5% Slot for Lever Phasing
(Speed Control Valve Port) REJ(LEL: 180°fzfAl)
R Type (L Type:180°Reverse)
EEC FEATURES
= oo e 27 = 8 R 8 3 3 3 B (H
\ﬁtf?ﬂ%uu?ﬂ{?mﬂﬁﬁiﬂ{ﬂ&mT%% =4 The CLHW series utilizes air sensing me;ham_sms by qletectmg the Nuiln(c[‘:uz?gd) DAC XEZE(X Thread)
BAEREIRREIEENL. differential pressure to achieve action confirmation, allowing safe and S
EREETRERE, KEEE, BRE efficient loading/unloading of the workpiece. With the integration of the = NIV E‘EI
RENE, built-in sensor valves, the CLKW series has taken a new and improved 09 o=t
BB EXBFER, EBIRTEEIT compact design and is most suitable for achieving automation. Y wE o B i T |«
N T 'g- Taper Sleeve(Included) : ! o
NEERKE, ITEREENNEERE.
S A >
I EROmIS LR . =
BAREES: 70 kgf/cm’ Max. operating pressure : 70 kgf/cm’
B/ NRIEBEN 15 kgf/cm’ Min. operating pressure : 15 kgf/cm’ < ° | x| l 3
/SN |
BRI o A XX
"arportfor | 2002 4| &
;I%%IE NOTE w 2 Clamp Confirmation T % SRR
w / [
|
RERBINMEENRERBENE. =ET The speed of clamping and unclamping action needs to be slowed down T e : OB (Bf#5)DC
TERENE, /BRETRERE, RAE appropriately. Action confirmation can be conducted by detecting o Isclértffor_\ltv oD O'RJ'nSi('nC'Uded)DC
— S AR N R = . . . . . NncClam| onnrmation glz’,_‘“ ] [t
TRERI, BipLLanE, tIEIBHE differential pressure with the air sensor. Please keep clearance of the air . ‘ O()_Rif’fc(ﬂ?:;?DDD
No (ERISHRITOROBRMERIRRE, exhaust hole to prevent the intrusion of coolant and chips. Make sure to ! J
supply constant air pressure to the air port when in use.
FREFRHEHO
Clamp Port

OBYZZEHE] (Bf) DA
O-Ring (Included)DA

~ — N
5] EB1Z7~% ORDERING INDICATION X
_ HERO: ORUEEiE (M) DB N
Bl: CLHW-048CRE Air Vent Port: O-Ring (Included) DB\ {E}l /CJ/\
CLHW &%l Series CLHW _
048 FReR<t 040: D=40mm 065: PD=65mm ODFRTABEHIIIMER T = —HEO— - =
Bogy size 048: ®D=48mm 075: ®D=75mm Outer diameter (®D) of the cylinder >
055: ®D=55 . N
= . FERFRET P 4
C R (A G ) W%Gﬂ?%&iﬁﬂﬁﬂﬁ%@ggﬂﬁ(CZL)(FBF‘%?TQ%E Unclamp Port “ Yg > \CJ/\
Gasket Option(With G Thread Plug) With G Thread Plug (able to attach Speed Control Valve) OBz (B%) DA T
(Order the valve separately Recommended:CZL) O-Ring (Included)DA
R B REAINEEE S R: JEREE 75 R: Clockwise
Swing Direction when Clamping L: W75 L: Counter-Clockwise FEEE NOTE
ERMRIRTER E:. %E’%@mﬁiﬁf@ﬂ = Clamp-und?mp éonﬁrmation(BOth) X1 B e TR ISR m At m A, X1.The slot for lever phasing faces the port side when clamped.
E Sensing Valve H %gib{ﬁﬁ;;f}: i Conflrmatpn ey X2 AREmAMITE LIRS, X2 Mounting bolts are not provided . Please prepare them
J: EErRE PR J:Unclamp Confirmation Only SR E S ESR TR S B TR, according to the mounting height referring to dimension”S".
H HEBEFEATO.1-02MPa, S EURBIEASMCIISA2-HEASN YO AERAN B, AEFSTES. X3. Speed control valve s sold separately. | |
Note: Recommended Operating Air Pressure 01~0.2MPa. Air Sensor: ISA2-HE45N(SMC) XAZEHCLHW-040MIEEHR T, ERAERIEAREE O 2R, X4. The valve of CLHW-040 is protruded as shown in the drawing.

053 | & B R 5l PNEUMATIC & HYDRAULIC CLAMPS | 054



Unit:mm

ZEER NI TR MoDEL mem  CLHW-  CLHW-  CLHW-  CLHW-  CLHW- BN EHERREL
MACHINING DIMENSIONS OF MOUNTING AREA 040CCE 048CE 055CCE  065CCE  075CLIE CLAMP CONFIRMATION ONLY
XAEZFRCLHW-CRHAYFZESRAE
Eﬁg&a"%ﬂ?% Nx : 15145 126?‘5 14659'5 18516 19821 The drawing shows the clagped state of CLHW-CRH
g 3 d 45 51 60 70 80 EESOREMHAT: GIEGUK3 A = |
\y \>/ D 40 48 55 65 75 Unclamp Port: G Thread
SN / Da 4038 49 56 66 76 GES ) R7SAFLY 5.7
= E 715 79 89 94 109 (Speed Control Valve Port) (Hex.Sockst Y), | —
> - i N7aN %%Y REL (R Type)
z & F 465 51 59 63 71 SR\,
) <|-. |
xERtEOP 7 %\/@ Fu 685 715 865 93 110 5[ R i
Camphortor /{ A & G 25 28 30 31 38 ol e oSl | < X Swing Direction
CEAR oK H 315 355 39 46 52 = ) )8 < ) HERE751E) When Clamping
4-EA Thread J 225 255 30 35 40
- ‘ K 34 40 47 55 63 /€\ % B (LType)
L |For Blind Hole
= L 73 83 88 106 116
] REHRRAED 2-G ST P8.6x4 X S
=) 30° oFATE Clamp Confirmation Air Port M 11 13 12 13 16 2-G Thread Plug(Included) < #27,0Q
Remove all burr o 04~06 Nx 26 30 335 395 45 L G < (Spot Facing ®Q)
D ; +0.05
- | | FF Ny 9 1 12 15 16 Clamp Port: G Thread %%g BRI
S [%[ ! ﬂ P 3 3 3 5 5 (TR ®CC o Slot for oLever Phasing
S °°1 OFB VA== b o Q 9 9 11 11 14 (Speed Control Valve Port) - RM(IL_;:'U 118ng%1 i) )
(IR e N g S
“ = 5 : ST ) DOAC
0Ny *V/'T = T 16.5 175 205 22 26 Nut(Included) XIR(X Thread)
V) 18 22 25 30 355
f Wi
v 15 18 21 24 30 = O] &
oF BHERAED W > v T T " = ==t
Unclamp Confirmation e HE (B 8# i ‘T |
ir Port X(BFRXIZIE) M16x1.5 M20x1.5 M22x15 M27x1.5 M30x1.5 SIS 8 aper Seevelinciuced) i 1
04~06 Y 6 8 8 10 10 - ' '
[@&7l] For Through Hole z(f3IfR) c3 (] a c4 c5 . B
o 30° ?I%ﬁg Cﬁﬁf%ﬁuf AA 24 30 32 41 46
| - H8 amp Confirmation
Remove all burrs OFA Air Port AB 8 9 10 11 1
D FF 04~36 AC 26.5 33 355 45 50
| | BA < o o
S H 1 E N 16 19 22 25 31 - %
o Flof T [ T A=A = BB 20 25 28 34 40
Fl = YR ] S =8 CA 7 9 10 125 14 X
Al Sl 1= n
s CB 6.5 7.5 9.5 11.5 125 B 5
o o w =] wn
I \FF = cc 4 5 6 6 8 . ——uifiof‘f |
ﬁ ENERRMEN EA M5x0.8  M5x0. 8 M6 M6 M8 Clamp Confirmation BB (B22%)DC
Xir;crlzr;wtp Confirmation FA 40.8+9™ 4990 5679% 669 767°9% O-Ring (Included)DC
7 FB 414 496 56.6 66.6 766 OBLEZE (Hf225)DD
=EH) FC 40.5 485 55.5 65.5 75.5 l O-Ring (Included)DD
Remove all burrs HEOEIBRIR30° MR FD 1.2 1.2 1.5 1.5 1.5 oD jg:;
Do not cover the 30° taper area of FE 47 515 59.5 63.5 715
the air supply ports JA 4 4 4 45 45 Jﬁfﬁfﬁ
FF ERfzzF40E JB 14 14 14 19 19 OBYZEYE (Bfd%5)DA
S Detail of FF Part it o-Rﬁi(m.cl(udFeZ))DA
;I%?IE =Gl G1/8 G1/8 G1/4 G1/4 & Nx
L . Unclamp PortG Thread
g HEES Cor s RE A B 4 RREF R e L
E2E SRR ZESE eI EARSFLATRE, DA 1BPS 1BPS 1BPS 1BP7 1BP7 - HE0O: Oijﬁ‘i-ﬁ(Bﬁ?E)DB {Eél
NOTE Off.f?gﬁ DB AS568-00790°)  1BPS 1BP5 18P7 18P7 Air Vent Port: O-Ring(Included)DB ™\ sl S
XEA tapping depth the mounting bolt should be decided DC 38x1.5(P§f§X2%§) AS568-031(70°) AS568-034(70°) AS568-037(70°) AS568-040(70°) >
according to the mounting height referring to dimension”s". DD 38x1.5(/fEx4H) AS568-031(70°) AS568-033(70°) AS568-036(70°) AS568-040(70°) N = N
z
AR 2EEE SPECIFICATIONS TERFRfEHO P
Unclamp Port 1 @ %
YR (%E kgf/crz]j?) TR REATIE TR EHAE WADE EUZEEE IAZEEE FREEEHE O%Eiﬁfl}g@%ﬁ -
MODEL (90°) SWING CLAMPING CLAMPING TOTAL  CYLINDER CAPACITY CYLINDER CAPACITY EFFPISTON AREA EFFPISTON AREA  RANGE OF O-Ring(Included)
STROKE (mm) ~ STROKE (mm)  STROKE (mm) STROKE(mm)  CLAMP(cm) UNCLAMP(cm’)  CLAMP(cm)  UNCLAMP(cm?)  TEMPERATURE(C)
CLHW-040 350 6.5 8 145 109 73 7.54 5.0 0-+70°C EFCE NOTE
CLHW-048 486.5 75 8 55 16.7 10.8 10.75 6.95 0-+70°C >Z<1Eﬁiﬁmﬁmﬁfigﬁ%ﬁﬁﬂf%ﬁﬂDfﬁ” 1. The slot for lever phasing faces the port side when clamped.
CLHW-055 721 85 10 185 28.1 19 15.2 103 0-+70°C X2 AERAMSLEZG, FRAFEE SRUIMRELESEEThHE, XZ.Mgunﬂnghbolts are %ot rE)rovfideol- P\esse prepasre them
R X3 AERARMERER Uﬁg, EREB{TEME, according to the mounting height referring to dimension”S”.
CLHW-065 938 10 10 20 409 26.7 2042 134 0-+70°C G LR ) 3. Speed control valve is sold separately
CLHW-075 1421 12 12 24 72.5 487 30.18 20.3 0-+70°C X4. The valve of CLHW-040 is protruded as shown in the drawing.

055 | & i B 1 K 5 PNEUMATIC & HYDRAULIC CLAMPS | 056



Unit:mm

e FrERRE
ZRIBMIMIRY MODEL ITEm  CLHW-  CLHW-  CLHW-  CLHW-  CLHW- UNCLAMP CONFIRMATION ONLY
ALl s Dl s R AL 2 L e 040CCH 048CCIH 055CCIH  065CCIH  075CCH XABRERCLHW-CRIGOREHKAS
The drawing shows the unclamped state of CLHW-CRJ
A 115 128.5 145.5 156 181 SCHERET CRENEG
ErHERMte O : K
B 54 61 69 81 92 B
Unclamp Port: G Thread
; ¢ = °! =l i L FIEREEER) L H J
ﬁ?ilﬁﬁr%\l%ur?%P Nx D 40 48 55 65 75 (Speed C;trol Valve Port) §
=nciamp Fort oF E 715 79 89 94 109 ©8.6x4 3 2.7
‘0P ‘ 4
Air agﬁuPort P ! : F 465 ! > = il W72\ 7N REL (R Type)
\4 Fu 68.5 775 86.5 93 110 A YR\Z N
L G 25 28 30 31 38 3[ . v i
> H 315 355 39 46 52 = =N 3 s Ll
= &s v|O o » %‘ %
—P ) 225 255 30 35 40 L. 3 <| & HERSE When Clamping
= N K 34 40 47 55 63 I =i/
3 PO N (LT
SEmEaOoe L 73 83 88 106 116 D) N \ype)
N/l
Clamp Port @P M 11 13 12 13 16 2-G RHEE(E) PIAAILY —
7P
Nx 26 30 335 395 45 2-G Thread Plug(included) APQ
N 9 11 12 15 16 (Hex.Socket Y) gyt Facing ©Q)
4-EAIZIKT oK Py n 5 2 s 5 SRESHEAUAN: GHREOES oCC 200 BEARFE(IEDK
4-EA Thread o o " > " Clamp Port: G Thread dCC 2% Slot for Lever Phasing
Q (FTZEARRH) REL(E: 180°5H)
R 55 55 6.8 6.8 9 (Speed Control Valve Port) R Type (L Type:180°Reverse)
S 15 175 17 17 21
T 165 175 205 22 26 NG ®AC
Xi247(X Thread
BT s Ie u 18 2 25 30 355 Nut(Included) G
REHEDFAHEOx2 v 15 18 21 24 30 =ty
- 30° . QEB -01 Clamp Confirmation Air Port w 12 14 15 16 16 2 o N ‘\ /‘ E gt
=2 S =
. o 04~06  X(BERXUEEE) M16x1.5 M20x1.5 M22x1.5 M27x1.5 M30x1.5 o wemm O T T <
! | 2.5 Y 6 8 8 10 10 > IL%_ Taper Sleeve(Included) | |
[ “ ‘ %‘ﬂ - " Z(fRifFE) c3 c3 c3 C4 c5
L Remove all burrs x| 4 Lé AA 24 30 32 41 46 B
\ o4 I QNS AB 8 9 10 11 11 =
\ \43/300 . b g AC 26.5 33 35.5 45 50
| 04LT = BA 16 19 2 25 31
L — BB 20 25 28 34 40 < 9 _ X g
Hs CA 7 9 10 125 14 =
oEC CB 65 75 95 15 125 I
cc 4 5 6 6 8 N meempEn | ORI (BADC
EA M5x0.8 M5x0.8 M6 M6 M8 Air Port for ' ; O—Ring (IncIuded)DC
EB 408 49 56 66 76 w| Unclamp Confirmation - -
EC 40%9% 48°9% 5500 6500 75004 OBYZ=47E (F5)DD
O-Ring (Included)DD
ED 1.2 1.2 1.5 1.5 1.5
E.\
i@l For Through Hole EE 20 20 24 24 34 |
T EF 47 515 59.5 63.5 715 oD 93
o KEHEFHHRNX
30 = @EB& Clamp Confirmation Air Port EG 26 26 30 30 40
£ER - 04~06 JA 4 4 35 45 4.5 RERHEHO
Remove all burrs @ Z o JB 14 14 14 19 19 Clamp Port
L - FERHO: GIRA OBJRE (Bfi) DA
i +2h <tul o GmmtcTed  G18 GI/8  GI/8 Gl/A Gl/A O-Ring (includec)DA -
! Remove all burrs - X W 4 “:J Undamp Port: G Thread
| ‘ nid =8 DA  1BPS 1BPS 1BP5 1BP7 1BP7 HERM: ORlEy (#)DB TRy R
‘ “y30° | 0411 | b g ok DB AS568-007(90°)  1BPS 1BP5 1BP7 1BP7 Air Vent Port: O-Ring (Included)DB M ngl r,\/
l ‘ AT J = ORing  DC  38¢1.5(AxEHR) AS568-031(70°) ASS68-034(70°) AS568-037(70°) AS568-040(70°) _
i DD  AS568-028(70°) AS568-031(70°) AS568-033(70°) AS568-036(70°) AS568-039(70°) z =7 _ _
@ECHS e
TERFREEHO L~ £
Unclamp Port Tg % \CD/\
OBLEZEE (F4)DA . .
T— O-Ring (Included)DA NOTE
TREE
eI NOTE X1 AR E (S RS RS A A, X1. The slot for lever phasing faces the port side when clamped.
N h B ) _ ) . . X2 AERARWTHRIERE, BHAFEE SRIWIRERESEBTEHE, X2 Mounting bolts are not provided. Please prepare them
>'<1 B2ESRIIRIBRESERE LRI IEARSILIIRE. X1. EA tapping depth of the mounting bolt should be cje"oded X3 ANERAMERE SRR, BREETEE. according to the mounting height referring to dimension”S".
S R A A R R B R B R G N, according to the mounting height referring to dimension”S”. XA BB CLHWOAOTUIEEE R~ B/ A AN EE Y 3R, 3. Speed control valve is sold separately.
X2. Provide the air port for clamp confirmation within the part 7. X4. The valve of CLHW-040 is protruded as shown in the drawing.

057 | & i E &1 & 51 PNEUMATIC & HYDRAULIC CLAMPS | 058



Unit:mm

LEREIMIRT

MACHINING DIMENSIONS OF MOUNTING AREA MODEL ITEM ()c:ol-(l:vé ) &I&Vé J OCSL;vé ) oc‘!.;-lcVé ) :;.;Vé )
A 115 1285 1455 156 181
B 54 61 69 81 92
C 45 51 60 70 80
ﬁﬁﬁﬁ@%ﬂf@gp Nx D 40 48 55 65 75
Jnclamp Port & E 715 79 89 94 109
= -inlol F 46.5 51 59 63 71
Air Vent Port &P \ ‘ ! Fu 68.5 775 86.5 93 110
G 25 28 30 31 38
> \\ﬁ H 315 355 39 46 52
- J 225 255 30 35 40
= " K 34 40 47 55 63
I 2 L 73 83 88 106 116
ﬁf‘ﬁ%ﬁtﬂg 4 f M 11 13 12 13 16
- Nx 26 30 335 395 45
4N oK Ny 9 11 12 15 16
4-EA Thread P 3 3 3 5 5
Q 9 9 11 11 14
R 55 55 6.8 6.8 9
S 15 17.5 17 17 21
T 16.5 175 205 22 26
ForBlind Hole u 18 22 25 30 35.5
) ﬁ%ﬁ@ﬁﬂﬁ v 15 18 21 24 30
£EH) - @EB 0.1 Air Port w 12 14 15 16 16
Remove all burrs/< ED B4~D6 X(ZFRXIEEE) M16x1.5 M20x1.5 M22x1.5 M27x1.5 M30x1.5
. | 25 Y 6 8 8 10 10
Wi i gl N y4(:)::)) c3 c3 c3 c4 cs
! ‘ Remofve%aﬁuburrs - Q = 4 ch AA 24 30 32 41 46
1 K1 x| E AB 8 9 10 11 11
1 P X | @ AC 26.5 33 355 45 50
| 04T = BA 16 19 22 25 31
‘ BB 20 25 28 34 40
" CA 7 9 10 125 14
QEC cB 65 75 95 115 12,5
cc 4 5 6 6 8
EA M5x0.8 M5x08 M6 M6 M8
EB 40.8 49 56 66 76
EC 4079% 48+9% 55+00 6590 754904
- ED 1.2 12 15 15 15
For Through Hole EE 20 20 24 24 34
ErERRfE O EF 47 515 59.5 63.5 71.5
300 0 Unclamp Confirmation EG 26 26 30 30 40
%%ﬂ ~ @EB_(H Air Port JA 4 n 4 45 45
Remove all burrs ED @4~D6 - -
«<:$<: e /25 JB 14 14 14 19 19
: REMHO: GHE
1 Il = %E L2 GphnGTed 8 GI/8  GI8 Gl/A  Gl/a
‘Jr <« s Unclamp Port :G Thread
\ =
300 | ‘ 2w DA 1BPS 18P5 18P5 18P7 18P7
| i 04LLF 1 < EEE DB ASSE-007909  1BPS 1BP5 1BP7 1BP7
| i | 0RO DC 3001 B ASS68-031(70°) ASS68-0347T0) ASS68-037(70") ASS68-040(0")
@ECH8 DD  AS568-028(70°) AS568-031(70°) AS568-033(70°) AS568-036(70°) AS568-039(70°)
SFEEIE NOTE

X1 FEB2E SRIUARERES R ELEIFIEIEARLILAIRE.
X2 B RENER R R R E I B~ #EE .

X1. EA tapping depth of the mounting bolt should be decided
according to the mounting height referring to dimensions”S".
%2. Provide the air port for unclamp confirmation within the part ¥.

059 | R HEL RS






